


2. HFERINFIALZA

filo

B% 1297

[a|
=

Qx=12d, VIs+x=Ads7tE
© x=3d ], V24+x+= AA57t
© x=4 <, V140 +x = AA57F Hrt
@ x=6 <L, V85 +x = AA57H dt

rﬂ
£ &

DAOC OO0 ®0ea6 @0 6 0.6



thHe& A = 24 - 4ab, B = a®b - 2a °] T

3.

ol
w
)
]
uf-

o
RS

© B9 A4t g9t ah-2 2 B5E 2 o]},
© A 5B o FE A5k a? ok,

® © ® 0.0

©a
@ ©

® 6.0,

©



vl

4. HeITEAE2A

5%
rlo

£9

@ ab+1)+(b+1)=(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)>
@ X2+dx+4-y>=(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x—2y)

® (x-3)2+2(x-3)-8=(x+1)(x-6)



© 2a®-5a+2

© a?2-2

@ a®*+a-6

@ © ® 0,0

©a

® A6, 0, ©

® O, ©



sholat,

:Il

FA 6x2 - 5x + 17} 6x% + 7Tx— 3 & 352l Q5= gy — 1 o[t}

=
A=

5 o
o] o

6.

-

ul



7.

T o|AFA] 22 —3x—4 2} 2x2 - 11x + 12 9

@ x-1 @ x-4

@ 2x-3 G 2x+3



Mo
T

® y=-2x?-4x

@ y=-2x2+4x

® y=-x>+2x

® y=5x2+10x

@ y=4x% + 4x



9. (2a-3b)? - (4a-5b)% = 4(ma + nb)(b - pa) & W, mn - p °| I
ok

D =11 ® 13 3 —-13 @ 11 B -2



AHO ZHE 45m 0|9 AE N4 24 30m 2 Lol &3

olt}. o] EA7} THA]

Ct- Z
Qe 2



Aty m o) L7

S
=

(3, m)

® 12 ® 18 @ 20 ® 32

@D 8



12. olzta y —

. Pty = —4x® + kx +2 9 zaﬂﬁqm o] 7ol Z7}5}m

Wk S7Fot= x__,]%}:__,]HJH7].x< A o, k 9 ZFS A5} Ay 9l
T-stoiet.

aa:k:



> 28 o] Jdmolc}. o] EZA x

oS IO ZEHLS y = i
o] WS A, B 2 otal, y S0 S C 2 & o, AABC 9
Hol=9
oH .

@D 16 2 24 3 30 @ 32 B 48



14. oA y = ax? + bx + ¢ 9 IH=I A A
0,2),(L,b+5),(-L,da-1) & AF W, a+ b+ c 9 #= T
Sholet.

Yt
-



A y=x+4x+6 9 AHPZE x FZO0Z2 2T y
Halo 58 L2 0] HaghS Ttolel.

=0

_

2 -3



o

A, q

4y =3x2 4 6x +a 9] HEgko] 7

Sk
=

1%

16.

® 6 3 8 @ 10 B 12

@D 4



W, Sele] o7t ezt

(s

e ofe] 1} o] PR A S| S ST
o Zolg x 2t &

¥

o0

—
?.

3
2
¥y

E171 60 ¢

17.

® 12 ® 13 @ 14 ® 15

@D 11



18. 1969 Alug2 22 x, yeb & o, 3x—2y + 119 AlF<2 ot
oAk (T x>y)

e =
-



19. % %295 Atolell Gl % FAA Vi o BE EAHE Felho
ASE? (02 AA5)

@D 18 7} @ 19 7 @ 20 7H @ 21 7§ ® 22 7§



@ 2 3 3 @ 4 3 5

D 1



S
=

Wa<m<a+1l,b<n<b+1

St
=
77

m, &= n ol

oju
il
ol
T

ot

S

.

Ul



22,

Hi7F 7S wet W& e ASY Q8 fE ot Al 2km O #ETH
73] Aol A oFR7HA] 12km € HESH= Hl 5 AR A-THA, 12km
£ 27te ol A8 AR 2 AITRRIA] Fotof et

Y A2k



. 3\/72 o] 7Fe [¢)
| =



A A ax? + bx +c¢ = 09 F

24.

(S, abc # 0)



] X%+ 3x

2x—5

m-—2

m—+1

_(_)4

2o Fol 3d W, m o] =



